
MA-PK-122-18
©2018 VIBCO, Inc.

CANADA
2215 Dunwin Dr. ,  Mississauga,  Ont.  L5L 1X1VIBCO, Inc. HQ & Manufacturing

75 Stilson Road, Wyoming, RI  02898
tel:	  401.539.2392 • 800.633.0032
http://www.VIBCO.com • vibrators@vibco.com

PLUMBING KIT
ELECTRICAL SD-9057

*Included in 2ABS12-12PK SOLENOID KIT

15

14

13
12

PK2E & PK3E PLUMBING KIT (ELECTRICAL) 3x3 IN
ITEM NO. PART NO. DESCRIPTION QTY

1 55SVR11 LUBRICATOR 1

3 (PK2E) 200PS50 1/4 NPT PRESTOLOK FITTING 1

3 (PK3E) 300PS50 3/8 NPT PRESTOLOK FITTING 1

4 300PS51 1/2 NPT PRESTOLOK FITTING 2

5 300PS52B .5 INCH TUBING, POLYETHYLENE 50 FT

6* 2ABS12-12VNC 1/2” SOLE. VALVE, 12VDC, ML 1

7 1/2CLOSE 1/2” CLOSE NIPPLE 1

8 5/16-18X2-1/2SH SCREW, SOCKET HEAD CAP 2

9 5/16FW FLAT WASHER, SAE 2

10 5/16LW HEAVY LOCK WASHERS 2

11 5/16-18HN HEX NUT 2

12* 1500PF55 SWITCH 1

13* 16MTW WIRE, 16GA. BLK 20FT

14* PV14-10R RING TERMINAL 3

15* BSV-14X-L BUTT SPLICE 2

1

9
10

11

8 6
4

7

NOTE: PISTON VIBRATOR 
SOLD SEPERATELY

3

5

4



MA-PK-122-18
©2018 VIBCO, Inc.

CANADA
2215 Dunwin Dr. ,  Mississauga,  Ont.  L5L 1X1VIBCO, Inc. HQ & Manufacturing

75 Stilson Road, Wyoming, RI  02898
tel:	  401.539.2392 • 800.633.0032
http://www.VIBCO.com • vibrators@vibco.com

PLUMBING KIT
MANUAL SD-9057

1

7

9
10 11

3

4

5

2
8 6 4

NOTE: PISTON VIBRATOR 
SOLD SEPERATELY

PK2M & PK3M PLUMBING KIT (MANUAL) 3 x 3 IN
ITEM NO. PART NO. DESCRIPTION QTY

1 55SVR11 LUBRICATOR 1

2 300PS49 LUBRICATOR BRACKET 1

3 (PK2M) 200PS50 1/4 NPT PRESTOLOK FITTING 1

3 (PK3M) 300PS50 3/8 NPT PRESTOLOK FITTING 1

4 300PS51 1/2 NPT PRESTOLOK FITTING 2

5 300PS52B .5 INCH TUBING, POLYETHYLENE 50 FT

6 86124PK QUICK ACTING VALVE-1/2 INCH 1

7 1/2CLOSE 1/2” CLOSE NIPPLE 1

8 5/16-18X2-1/2SH SCREW, SOCKET HEAD CAP 2

9 5/16FW FLAT WASHER, SAE 2

10 5/16LW HEAVY LOCK WASHERS 2

11 5/16-18HN HEX NUT 2


